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…. have reduced in recent years following the introduction of measures to 

improve car occupant safety such as frontal /side impact directives / 

regulations and EuroNCAP  

Note that unbelted still a large problem, particularly in the rear. 



Note: for GB over half fatalities in impacts with severity greater than 56 km/h 
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Detailed case analysis was performed to determine underlying issue which led to 

injury for occupants in target population. 

Target population selection criteria: 

• Accident occurred between 2000 and 2010 (inclusive). 

• The casualty was killed or seriously injured (MAIS2+) 

• The casualty was a car occupant. 

• A significant frontal impact occurred. 

• The nature of the injury, the impact type and seatbelt use were all known. 

• The casualty was in a regulatory compliant car or one which had an equivalent 

crash safety level.  

• No rollover occurred before the first impact. 

• Seatbelt was used by the casualty. 

• No unbelted occupant was seated behind the casualty. 

• The occupant was a front-seat occupant. 

 

Please note that the small bias in the CCIS dataset to HGV impact partner is not taken 

into account in this figure, so the proportion of ‘no issue – large vehicle underride’ 

will likely be over-estimated. 
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Assuming that the introduction of a full-width test would: 

1. Improve restraint systems and reduce restraint related deceleration injuries 

2. Improve structural alignment and resolve under/override caused by initial 

structural alignment issues. 

 

Issues: 

1. What exactly is an improved restraint system? In the analysis it was assumed that 

an improved restraint system would reduce restraint related injuries to the thorax, 

abdomen, clavicle and leg/pelvis by 1 (pessimistic) or 2 (optimistic) AIS levels. In 

reality a restraint that could achieve this would need to be a substantial improvement 

on current restraint systems and in the authors opinion would need to be adaptive to 

occupant size, seating position and weight as well as to accident severity.  

2. How could the introduction of a full width test enforce the introduction of a 

restraint system of this nature? In short, the answer to this is that it couldn’t because it 

could not assess (and hence enforce) the adaptive nature of the restraint system. A 

number of tests with different sized dummies at different severities would be needed 

to do this. 
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It has been agreed within the GRSP informal group that it is only possible to add one 

full width test, whereas this proposal requires two!! 
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